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Past Ome

Section A
Directions: In this section, you will hear 10 short conversations. At the

end of each conversation, a question will be asked about what
was said. Both the conversation and the question will be spoken
onfy once. After each question there will be a pause. During the
pause, you must read the four suggested answers marked [A], [B],
[C] and [D], and decide which is the best answer. Then mark_ the
corresponding letter on the Answer Sheet with a single fine
through the center.

Example: You will hear:

1.

You will read:
[A] At the office. [B]In the waiting room.
[C] At the airport. [D]In a restaurant.

From the conversation we Know that the two are talkjng about
some work, they have to finish in the evening. This is the most
likely to have taken place at the office. Therefore, [A] “At the
office” is the best answer. You should choose [A] on the Answer
Sheet and mark it with a single line through the center.

Sample Answer{A] [B] [C] [D]

[A] The man is supposed to meet Mary on Tuesday.



[S9]

W

[B] The man is supposed to meet Mary on Monday.
[C] The man is supposed to meet Mary on Tuesday.
\[B]/T he mausvswe‘d}o meet Mary on Wednesday

[A] She bought him a book.

[B] She bought him a bike.

[C] She bought him a picture-book.
DY She bought him a watch.

. IAY1ts difficult to give up smoking.

[B] He doesn’t need the woman’s advice.

[C] It’s easy to give up smoking.

[D] He thanks the woman for her advice.

[A] Nancy has bought some new clothes.

[B] The’ man has bought some new trousers for the
‘woman.

C]Nancy is still fat.
| Nancy is thinner than before.

[A} She doesn’t want him to sit down.

[B]” She would mind if he sits down.

@:Please, sit down.

[D] She doesn’t want the man to sit with her.

[A] The rain stopped, but the wind is blowing.

\[_};]/The wind stopped, the rain is still raining.

[C] 1t’s still raining, and the wind is blowing.

[D] Both the rain and the wind stopped.

[A] She is on the train. \

(fB]:,She is looking at a time table.

/



l%he needs to buy a map.
She is taking pictures.
8. [A] The man wants something to eat.
a B} The man wants his change.
[C] The man wants a different waitress.
[D] The man wants a copy of the order form.
9. [A] If he’ll have time to eat in Chicago.
[B] Where the bus station is located.
@ When buses depart for Chicago.
f he can caich a bus that leaves Chicago.
10. [A] He was tired.
"[B] His appointment was changed.
C] He had a flat tire.
[D] His bicycle was stolen.

Section B

Directions: In this section, you will hear 3 short passages. At the end of
each passage, you will fiear some questions. Both the passage and
the questions will be spoken only viice. After you hear a question,
you must choose the best answer from the four choices marked [A4],
[B], [C] and [D]. Then mark, the corresponding letter on the
Answer Sheet with a single ine through the center. ’

Passage One



11.

12.

13.

Questions 11 to 13 are based on the passage you have

Just heard. o “hy Lu‘v'H\

[A] A jast area.

[B] Special care.

[C] Something to climb.

[D] A spe aI diet. B

[A] They llke people “ W
[B] They feed on.

[C] They don’t wonder far.

[D] They need little space.

[A] Their milk is rich.

[B] Their food is good.

[C] They can live almost anywhere.
[D] They get along with other farm animals.

Passage Two

Questions 14 to 16 are based on the passage you have

Jjust heard. '(/

14.

[A] Fy‘lt-mo vemcal wind streams.
[B] Airplane pilots.

[C] Weather damage to crops.

[D] The airplane accn?ents

[A] Fifteen to sixteefl feet per second.

. [B] Fifteen or sixteen miles per hour.

[C] Fifty or sixty miles per hour.



[D] Fifty or sixty miles per second.
16. [A] In the winter during snowstorms.

[B] During the summer.

[C] During lightning storms.

[D] At night.

Passage Three

Questions 17 to 20 are based on the passage you have
Just heard.
17. [A] Itis a time for manufacturers to sell products.
@lt is a time for Christians to go to church.
[C] It is a time for children to have holidays.
[D] It ig a time for the families to get together.
& AT B
[B] They serve chocolates and rabbits.
[C] They serve desert, pumpkin.
[D] They serve traditional dishes such as baked ham.
19. [A] They make chocolates in the shape of baskets.
[B] They make chocolates in the shape of chicks.
[C] They make chocolates in the shape of eggs and -
rabbits. _
[D] They make chocolates in the shape of hams.
20. [A] This passage gives us three reasons.
[B] This passage gives us seven reasons.
[C] This passage gives us five reasons.



[D] This passage offers us four reasons.

Section C

Directions: In this section, you will hear a passage of about 120 words
three times. The passage is printed on your Answer Sheet with
about 50 words missing. First, ydu will hear the whole passage
from the beginning to the end just to get a general idea of it. Then,
in the second reading, you will hear a .vi.gna[ indicating the
beginning of a pause after each sentence, sometimes two sentences
or just part of a sentence. During the pause, you must write down
the missing words you have just heard in the corresponding space
on the Answer Sheet. There is also a different signa[ indicating the
end of the pause. When you hear this signal; you must get ready
for what comes next from the recording. You can check, what you
have written when the passage is read to you once again without

the pauses.

- Shortly after I first came to Korea, I had a phone call from
a young Korean I had met: “I just got marned and (21)

lyﬂ& 4\,&\,&(0( tia! ’\’I*‘"\ -/6 CﬁM‘ v‘{ g AL L’
next Saturday.” “That’ s/ wonderful! Congratulations!” I said
“Thank You. I'd love to. (22) / Z:elzza( for & w/‘/\‘-’)""
“She’s not beautiful, and (23) el antd Luo/ ./‘bv~j

¢ et ;
Butihope you’ll come.” At this point, (24) _~1 (- & /t«./di.b{

/\\‘l PN 22N
tey

'}

gl .



Was he already tired of his new wife? (25) 01,[»-1 ’/»L conplos
Jag b anwtlor o J N
But when his wife greeted me at the door I was
astonished to see (26) i 2l Vw‘j
Only then did I realize (27) Ae ffzv /
He wasn’t criticizing her to me; he Wis—w'?t_b—dmg polite.
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Section A
Directions: In this section, you will hear 10 short conversations. At the

end of each conversation, a question will be asked about what
was said. Both the conversation and the question will be spoken
only once. After each question there will be a pause. During the
pause, you must read the four suggested answers marked [A], [B],
[C] and [D], and decide which is the best answer. Then mark_the
_corre.\‘pond'ing letter on the Answer Sheet with a single line
through the center.

Example: You will hear:

i

You will read:
[A] At the office. [B]In the waiting room.
[C] At the airport. [D]In a restaurant.

From the conversation we Know that the two are talking about
some work_ they have to finish in the evening. This is the most
likely to have taken place at the office. Therefore, [A] “At the
office” is the best answer. You should choose [A] on the Answer
Sheet and mark it with a single line through the center.

Sample Answer{A{ [B] [C] [D]

[A] A movie.

L3



-J;Bi}/ A documentary.

« [C soccer game.
[D] A comedy t —d
A y < o
2. _[A}T55 b ‘; 0 L
[B] 7:45 )
JCY 7:50
[D] 8:00
3. [A] They both liked it.
[B] Neither like it.
(C} The mother didn’t like it, but the father did.

[D] The mother didn’t like it because it wasn’t in

)
7

English.
4. [A] $35.
L BT $17.50. J
[C] $70.
[D] 19.95

5. | [AVEngland. 7.4
} B] America.. KA

\%I/Switzerland i
[D] Sweden Lsae f

6. [A] Her brother lives far away. \
)2 [B] Her brother hasn’t written her any letters recently.
[C] Her brother has taken a long journey.
\_[P] Her brother has no time to make phone calls.
7. [A] He’s waiting for a letter.
T [B] He has an important letter to mail.

/
Pa
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[C] He can’t wait any longer.
[D] He doesn’t have a watch.
8. [A] At home.
[B] In a painter’s studio.
~_I€] In a clothing store.
[D] At a birthday party.
()/x\ [A] 40 feet.

\[BY 80 feet.
(G 160 fect

[D] 100 feet.
10. [A] No, he won't.
{B] No, he doesn’t want it.
[C] Yes, he’ll get it immediately.
\U1 Yes, he’ll get it after the woman has read it.

Section B

Directions: In this section, you will fear 3 short passages. At the end of
each passage, you will fiear some questions. Both the passage and
the questions will be spoken only once. After you hear a question,
you must choose the best answer from the four choices marked [A],
[B], [C] and [D]. Then mark, the corresponding letter on the
Answer Sheet with a single line through the center.

Passage One

10



Questions 11 to 13 are based on the passage you have
Jjust heard, ot 1o NP fe ,fl, A A
11. [A] the aXvantages of refrigeration.

[B] Cooking food in the summer.

\_E/}/Food spoilage in the summer.
[D] Types of dry foods.

12. [A¥Cookies.  be/ s

[B] Chickens. o7 B AN
[C] Eggs. i

\[gﬂ Ice-cream.
13. [A] Eat it immediately

[B] Try a little.
hrow it away.

Wook it thoroughly

Passage Two

Questions 14 to 16 are based on the passage you have

Just heard. ym / fod i'd/ PR faﬂ\” \ﬂ"
14. [A] He was 20 years old.
[B] He was 25 years old.
\[,QT He was 35 years old.

[D] as 43 E'Lskcv) {% TL’NQ 77127 )
15. [A] sehck getting into trouble. ' )

Bk Becausc he had no skills in any trade.
[C] Because he was unpopular with his brothers.
[D] Because people had no sympathy for him.

b 1 4



